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Team Contest      2006/7/12  Wenzhou, China 

1. The teacher said, “I want to fit as large a circle as possible inside a triangle whose side lengths are 2, 2 and 2x for some positive real number x. What should the value of x be?” Alex said, “I think x should be 1.” Brian said, “I think x should be 
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.” Colin said, “Both of you are wrong.” Who was right?
老师说：“要在一个三边长为2，2，2x的三角形内部放置一个尽可能大的圆，则正实数x的值该是多少？”
学生A说：“我想x＝1.”
学生B说：“我认为
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学生C说：“你们回答都不对！”
他们三人谁的回答是正确的？为什么？
老師說：「要在一個三邊長為2，2，2x的三角形內部放置一個盡可能大的圓，則正實數x的值該是多少？」

學生A說：「我想x＝1。」

學生B說：「我認為
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學生C說：「你們回答都不對！」

他們三人誰的回答是正確的？為什麼？

ครูบอกว่า “ครูต้องการบรรจุวงกลมที่มีขนาดที่ใหญ่ที่สุดที่เป็นไปได้ลงในรูปสามเหลี่ยมทีมีด้านยาว 2, 2 และ 2x  
เมื่อ x  เป็นจำนวนจริงบวก แล้ว x จะเป็นค่าใด
Alex ตอบว่า  “ x ต้องเป็น 1.” 
Brian ตอบว่า “x ต้องเป็น 
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Colin ตอบว่า “ A และ B เธอทั้งสองคนตอบผิด.” 
นักเรียน A, B, C คนใดตอบถูก
2. A triangle can be cut into two isosceles triangles. One of the angles of the original triangle is 36˚. Determine all possible values of the largest angle of the original triangle.
一个三角形可被剖分成两个等腰三角形，原三角形的一个内角为36˚，求原三角形最大内角的所有可能值.
一個三角形可被剖分成兩個等腰三角形，原三角形的一個內角為36˚，求原三角形最大內角的所有可能值。


รูปสามเหลี่ยมรูปหนึ่ง ตัดออกเป็นรูปสามเหลี่ยมหน้าจั่วสองรูป ถ้ามุมของรูปสามเหลี่ยมรูปเดิมมุมหนึ่งเป็น 36˚ 
จงหาค่าของมุมที่มีขนาดใหญ่ที่สุดที่เป็นไปได้ทั้งหมดของรูปสามเหลี่ยมรูปเดิม
3. There are five Tetris pieces, each consisting of four unit squares joined edge to edge. Use the piece shaped like the letter L (the first one in the diagram below) and each of the other four pieces to form a shape with an axis of reflectional symmetry.
四个单位正方形以边对边相连接而成，可以拼成如图五种不同的形状.用一片”L”形(图中第一个)分别与其余四个中的一片拼成轴对称图形，请绘出所有可能之组合. 

四個單位正方形以邊對邊相連接而成，可以拼成如圖五種不同的形狀。用一片“L”形(圖中第一個)分別與其餘四個中的一片拼成軸對稱圖形，請繪出所有可能之組合。
มีตัวต่อ 5 ชิ้น แต่ละชิ้นประกอบด้วยรูปสี่เหลี่ยมจัตุรัสขนาดหนึ่งตารางหน่วย 4 รูปเรียงติดกันด้านต่อด้าน ดังรูป , 
[image: image29.emf]จงใช้ตัวต่อที่มีลักษณะคล้ายตัวอักษร L (ตัวต่อชิ้นแรกของรูปข้างล่าง) และเลือกตัวต่อชิ้นอื่นอีกหนึ่งชิ้น 
เพื่อต่อเป็นรูปที่มีแกนสะท้อนสมมาตร  จงเขียนรูปที่เป็นไปได้ทั้งหมด
4. A domino consists of two unit squares joined edge to edge, each with a number on it. Fifteen dominoes, numbered 11, 12, 13, 14, 15, 22, 23, 24, 25, 33, 34, 35, 44, 45 and 55, are assembled into the 5 by 6 rectangle shown in the diagram below. However, the boundary of the individual dominoes have been erased. Reconstruct them.
一片骨牌是由两个单位正方形以边对边相连接而成，在每个正方形内标记上数字1、2、3、4或5，所以我们共可得标号为11，12，13，14，15，22，23，24，25，33，34，35，44，45，55的15片不同的骨牌.将这15片骨牌排成一个如图的5×6的长方形，每片骨牌的边界已经擦除，请试着把这些骨牌的边界重新画出来.

一片骨牌是由兩個單位正方形以邊對邊相連接而成，在每個正方形內標記上數字1、2、3、4或5，所以我們共可得標號為11，12，13，14，15，22，23，24，25，33，34，35，44，45，55的15片不同的骨牌。將這15片骨牌排成一個如圖的5×6的長方形，每片骨牌的邊界已經擦除，請試著把這些骨牌的邊界重新畫出來。
จากรูปเป็นรูปสี่เหลี่ยมผืนผ้าขนาด 5 × 6  ที่เกิดจากโดมิโน 15 ชิ้นที่มีตัวเลข 11, 12, 13, 14, 15, 22, 23, 24, 25, 33, 34, 35, 44, 45 และ 55 มาเรียงติดกัน  (โดมิโนหนึ่งตัวประกอบด้วยรูปสี่เหลี่ยมจัตุรัสขนาดหนึ่งตารางหน่วยสองรูปอยู่ติดกันหนึ่งด้าน ซึ่งแต่ละรูปจะมีจำนวนหนึ่งจำนวนอยู่ภายในรูปสี่เหลี่ยมจัตุรัส ) 
จงเขียนรูปสี่เหลี่ยมผืนผ้ารอบจำนวนที่เป็นโดมิโนเดิมให้ครบสิบห้าชิ้น
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5. A lucky number is a positive integer which is 19 times the sum of its digits (in base ten). Determine all the lucky numbers.
“幸运数”是指一个等于其各位数码 (十进制) 和的19倍的正整数，求出所有的幸运数.

“幸運數”是指一個等於其各位數碼 (十進位) 和的19倍的正整數，求出所有的幸運數。
จำนวนโชคดี คือ 
จำนวนเต็มบวกที่เท่ากับ 19 เท่าของผลบวกของจำนวนในแต่ละหลักของจำนวนนั้น 
จงหาจำนวนโชคดีทั้งหมด
6. Alice and Betty play the following game on an n(n board. Starting with Alice, they alternately put either 0 or 1 into any of the blank squares. When all the squares have been filled, Betty wins if the sum of all the numbers in each row is even. Otherwise, Alice wins. 
(a)
Which player has a winning strategy when n＝2006?

(b)
Answer the question in (a) for an arbitrary positive integer n. 
甲和乙在一个n(n的方格表中做填数游戏，每次允许在一个方格中填入数字0或者1（每个方格中只能填入一个数字），由甲先填，然后轮流填数，直至表格中每个小方格内都填了数.如果每一行中各数之和都是偶数，则规定为乙获胜，否则当作甲获胜.请问：
(1) 当n＝2006时，谁有必胜的策略？
(2) 对于任意正整数n，回答上述问题.
甲和乙在一個n(n的方格表中做填數遊戲，每次允許在一個方格中填入數字0或者1（每個方格中只能填入一個數字），由甲先填，然後輪流填數，直至表格中每個小方格內都填了數。如果每一行中各數之和都是偶數，則規定為乙獲勝，否則當作甲獲勝。請問：

(1) 當n＝2006時，誰有必勝的策略？

(2) 對於任意正整數n，回答上述問題。
อลิซและเบตตี้เล่นเกมต่อไปนี้บนกระดานที่ตีเป็นตารางขนาด n(n  
อลิซเป็นคนเริ่มต้นเล่นโดยเขียนตัวเลข 0 หรือ 1 เพียง 1 ตัว ลงในช่องตาราง 
แล้วสลับให้ เบตตี้ เขียนตัวเลข  0 หรือ 1 เพียง 1 ตัว ลงในช่องตาราง สลับเช่นนี้ไปเรื่อยๆ  
เมื่อเขียนตัวเลขลงในช่องตารางเต็มทุกช่องแล้ว 
เบตตี้จะเป็นผู้ชนะเมื่อผลรวมแต่ละแถว(แนวนอน)เป็นจำนวนคู่ครบทุกแถว 
แต่ถ้าผลรวมแต่ละแถว(แนวนอน)เป็นจำนวนคู่ไม่ครบทุกแถวหรือผลรวมเป็นอย่างอื่น อลิซจะเป็นผู้ชนะ
(a)
A หรือ B ใครเป็นผู้ชนะเมื่อ n＝2006?

(b)
จงตอบคำถาม (a) สำหรับจำนวนเต็มบวก n ใดๆ
7. Prove that 
[image: image5.wmf]1596

n

+
[image: image6.wmf]320

270

1000

n

n

n

-

-

 is divisible by 2006 for all positive odd integer n. 
设n为任意奇正整数，证明：
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能被2006整除.
設n為任意奇正整數，證明：
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能被2006整除。
จงพิสูจน์ว่า 
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 หารด้วย  2006  ลงตัวทุกๆ จำนวนคี่บวก n.
8. From the list of positive integers in increasing order, delete all multiples of 4 and all numbers 1 more than a multiple of 4. Let 
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 be the sum of the first n terms in the sequence which remains. Compute 
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将正整数中所有被4整除以及被4除余1的数全部删去，剩下的数依照从小到大的顺序排成一个数列
[image: image15.wmf]{

}

a

n



 EMBED Equation.3  [image: image16.wmf]：2, 3, 6, 7, 10, 11, … .
数列
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的前n项之和记为
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求S=
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的值.（其中
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表示不超过x的最大整数）

將正整數中所有被4整除以及被4除餘1的數全部刪去，剩下的數依照從小到大的順序排成一個數列
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 EMBED Equation.3  [image: image22.wmf]：2, 3, 6, 7, 10, 11, … 。
數列
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的前n項之和記為
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求S=
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的值。（其中
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表示不超過x的最大整數）
จากลำดับของจำนวนเต็มบวกที่เพิ่มขึ้นตามลำดับ 
ถ้าลบจำนวนพหุคูณของ  4 และจำนวนทุกจำนวนที่มากกว่าพหุคูณของ 4 อยู่ 1 
ให้  
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 เป็นผลบวก n พจน์แรกของลำดับที่มีเหลืออยู่ 
จงหาค่าของ 
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9. ABC and PQR are both equilateral triangles of area 1. The centre M of PQR lies on the perimeter of ABC. Determine the minimal area of the intersection of the two triangles.
平面上，正三角形ABC与正三角形PQR的面积都为1.三角形PQR的中心M在三角形ABC的边界上，如果这两个三角形重迭部份的面积为S，求S的最小值.

平面上，正三角形ABC與正三角形PQR的面積都為1。三角形PQR的中心M在三角形ABC的邊界上，如果這兩個三角形重疊部份的面積為S，求S的最小值。
ABC และ PQR เป็นรุปสามเหลี่ยมด้านเท่าที่มีพื้นที่เท่ากับ 1 ตารางหน่วย. 
จุดศูนย์กลาง M ของรูปสามเหลี่ยม PQR อยู่บนเส้นรอบรูปของรูปสามเหลี่ยม ABC. 
จงหาพื้นที่ที่น้อยที่สุดที่ซ้อนทับกันของรูปสามเหลี่ยมทั้งสองรูป.
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10. For a certain positive integer m, there exists a positive integer n such that mn is    the square of an integer and m－n is prime. Determine all such positive integers m in the range 1000 ≤ m<2006.
设m是一个小于2006的四位数，已知存在正整数n，使得m－n为质数，且mn是一个完全平方数，求满足条件的所有四位数m.
設m是一個小於2006的四位數，已知存在正整數n，使得m－n為質數，且mn是一個完全平方數，求滿足條件的所有四位數m。
สำหรับจำนวนเต็มบวก m จะมีจำนวนเต็มบวก n 
ซึ่ง mn เป็นกำลังสองของจำนวนเต็ม และ m – n เป็นจำนวนเฉพาะ 
จงหาจำนวนเต็ม m ทุกจำนวน ที่อยู่ในช่วง 1000 ≤ m<2006.
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